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	-
	[bookmark: ColumnTitle_Concepts_and_Techniques]Concepts and Techniques
	[bookmark: ColumnTitle_Reasoning_Communication]Reasoning and Communication

	[bookmark: RowTitle_C]C
	Generally competent knowledge and understanding of concepts and relationships.
Generally effective selection and application of mathematical techniques and algorithms to find mostly accurate solutions to routine problems in different contexts.
Application of mathematical models to find generally accurate solutions.
Generally appropriate and effective use of electronic technology to find mostly accurate solutions to routine problems.
	Generally appropriate interpretation of mathematical results in the context of the problem.
Drawing some logical conclusions from mathematical results, with some understanding of their reasonableness and limitations.
Generally appropriate use of mathematical notation, representations, and terminology, with reasonable accuracy.
Generally effective communication of mathematical ideas and reasoning to develop some logical arguments.
Formation of an appropriate prediction and some attempt to test it using mathematical evidence.

	[bookmark: RowTitle_D]D
	Basic knowledge and some understanding of concepts and relationships.
Some selection and application of mathematical techniques and algorithms to find some accurate solutions to routine problems in context.
Some application of mathematical models to find some accurate or partially accurate solutions.
Some appropriate use of electronic technology to find some accurate solutions to routine problems.
	Some interpretation of mathematical results.
Drawing some conclusions from mathematical results, with some awareness of their reasonableness.
Some appropriate use of mathematical notation, representations, and terminology, with some accuracy.
Some communication of mathematical ideas, with attempted reasoning and/or arguments.
Attempted formation of a prediction with limited attempt to test it using mathematical evidence.

	[bookmark: RowTitle_E]E
	Limited knowledge or understanding of concepts and relationships.
Attempted selection and limited application of mathematical techniques or algorithms, with limited accuracy in solving routine problems.
Attempted application of mathematical models, with limited accuracy.
Attempted use of electronic technology, with limited accuracy in solving routine problems.
	Limited interpretation of mathematical results.
Limited understanding of the meaning of mathematical results, their reasonableness or limitations.
Limited use of appropriate mathematical notation, representations, or terminology, with limited accuracy.
Attempted communication of mathematical ideas, with limited reasoning.
Limited attempt to form or test a prediction.




Benchmark decision = D

Benchmark notes
Concepts and Techniques
In the Investing and Borrowing task, the student showed basic knowledge and some understanding of concepts and relationships. This was evident in the response to the early questions involving simple interest. The student was able to use the simple interest formula appropriately and calculate correctly at times. This demonstrated some selection and application of mathematical techniques to find some accurate solutions to routine problems. The use of electronic technology to find solutions to routine problems was also identified.  The attempted application of mathematical models, with limited accuracy was evident in questions 9 and 10. The student evidence did not demonstrate success with any compound interest problems in the paper. 
(CT3 @ E, CT1, 2 & 4 @ D)

Reasoning and Communication 
In the Investing and Borrowing task, some appropriate use of mathematical notation, representation, and terminology were evident. Notation was inconsistent especially with the use of $ and % symbols. The student’s ability to communicate mathematical ideas was limited. Evidence included the basic statement of results, as demonstrated in question 5, and the identified values and formula in early questions. Mathematical terminology such as ‘years’, ‘$’ and ‘%’ were inconsistently used in answers.
(RC4 @ E, RC3 @ D)
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Ross invested $1800 over 18 months and received $1941.75 in total. What simple
interest rate did Ross's investment earn?

(5 marks)
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Jali deposits her X-Lotto winnings into an account that pays 5.1% p.a. simple interest.
After 18 months she has earned $28400 in interest. How much did she win in X- Lotto?
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5. Brian invests $10000 at a flat rate of 5%%p.a. for 10 years. The investment is to be
paid half yearly. Find the total interest earned over the 10 years and the half yearly
interest payment Brain would receive.
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6 Sven sells his house and deposits the proceeds of $124000 in a term deposit account

for 1 year. The account pays 8.4% p.a. compounded monthly. How much interest will
he earn over this period?

(5 marks)
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7 Becky's grandmother gives her $10000 for a birthday present and she decides to put it

into a term deposit account for 2 years. The account pays 7%% p.a. compounded half
yearly. How much interest will she earn over this period?
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8 When you retire in 25 years’ time, you want to have $50000 to throw a big party. If your
bank is currently paying 4% p.a. interest compounded annually, how much would you
need to deposit in your bank now?
(6 marks)
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Arnaud receives a $450000 superannuation payment when he retires. He checks a
number of banks and finds the following rates on deposits being offered.

(12 marks)
Bank X: 9%% p.a. simple interest
Bank Y: 7%% p.a. compound quarterly
Bank Z: 7%% p.a. compound monthly

Compare the interest that would be received over a ten year period from these banks.
In which bank should Arnaud deposit his superannuation?
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10 Calculate the interest that would be earned on $50000 over 5 years if the interest rate
of 6%% p.a. offered by:
(16 marks)
The Bank of Blucher is compounded annually
Kalfas Consolidated is compounded half yearly
Muller Mutual is compounded quarterly
Moran’s Bank of SA is compounded mounthly

apop

Once you have discovered the interest earned from each institutions, clearly state
which offers the best return for your investment.
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Stage 1 General Mathematics
Assessment Type 1: Skills and Application Task

Topic 1 — Investing and Borrowing

Assessment Conditions

* o o o

Students will have 60 minutes to complete the test

Test conducted under direct teacher supervision in examination conditions
Students may have one A4, single- sided sheet of notes

Students may use a SACE approved calculator

Assessment Design Criteria

CT1
CT2

CT3
CT4

RC3
RC4

Concepts and Techniques

Knowledge and understanding of concepts and relationships

Selection and application of mathematical techniques and algorithms to find
solutions to problems in a variety of contexts

Application of mathematical models

Use of electronic technology to find solutions to mathematical problems

Reasoning and Communication

Use of appropriate mathematical notation, representations, and terminology
Communication of mathematical ideas and reasoning to develop logical arguments

Student Name-
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1 a) Calculate the simple interest earned on $10000 borrowed over 2 years at 3%% p.a.

(2 marks)
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b} Calculate the simple interest earned on $5000 invested over 4 years at 7%% p.a.
(2 marks)
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2 Josie deposits $12400 in an account paying 4%% simple interest. How long will it take
the account to earn $3000 on interest?
(4 marks)
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